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• Collect candidate images and manually select the optimal 
editing result. 

• From t=0 to t=50, the editing result ranges from 
"fidelity" to "editability". 

• People ignore “t”. 

• Two technical problems: speed and manually. 🙊
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Motivation

• 1⃣ Different editing pairs require different inversion steps !!! → Search Metric 

• 2⃣ Editing multiple pairs simultaneously can result in concept mismatch and poor editing !!! → OIR 🙊

2



1⃣ Different editing pairs require different inversion steps !!!
How to automatically select the optimal inversion step ? (Search metric)

Se (It, Pt, Me) = normalize
CLIPimage(It, Me) ⋅ CLIPtext(Pt)

CLIPimage(It, Me)
2

⋅ CLIPtext(Pt)
2

Sne (It, Io, Mne) = normalize (− (It − Io) ⊙ Mne
2

2)
Search Metric = 0.5 ⋅ (Se + Sne)

• Inspired by human observation, we hope that the 
editing region will be aligned with the target 
prompt, and the non-editing region will be 
consistent to the original image. 

• Editing region metric: CLIP Score (↑,0→50) 

• Non-editing region metric: Negative MSE(↓,0→50)
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1⃣ Different editing pairs require different inversion steps !!!
How to speed up ?
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1⃣ Different editing pairs require different inversion steps !!!

• PNP injects features to control “editability” and “fidelity”. 

• Search metric changes the timestep to control “editability” and “fidelity”. 

• When PNP injects nothing, PNP is equivalent to the search metric with timestep=0. When PNP injects all 
features, PNP is equivalent to the search metric with timestep=50.

Why our novel method can work ?
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2⃣ How to solve “concept mismatch” and “poor editing”!!!
What is the “concept mismatch” and “poor editing” and where are they from?

• Concept mismatch: mismatch the feature of crochet and gold. 

• Possible sources: There are overlapping features in the early stage of the denoising process. 

• Poor editing: don’t follow the objective of editing task (fidelity and editability). 

• Possible sources: Use the same inversion step for different editing pairs.
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2⃣ How to solve “concept mismatch” and “poor editing”!!!
How to solve these two problems ? (OIR)
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Results
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I am currently seeking a Ph.D. supervisor. 
If you are interested, please contact me. 🤗
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